
 

MATHEMATICS WORKSHEET 

MIXED PROBLEM SOLVING 

Sam purchased a wire length of 43m 25 cm and Sid purchased another wire length of 
23 m 48 cm.  They joined both the lengths.  How much total wire length they have 
got? 
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There are 48 oranges in each basket.  How many oranges are there in four baskets? 

   

   
   

 

A tailor had 573 cloth pieces.  He stitched 268 shirts for them.  How many cloth 
pieces were left with him? 

    

    
    

 

A car has the capacity of 4 people.  How many cars are needed to seat 36 people? 
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